

Multiply by 10^{-2} (E)

Find each product.

$$99 \times 10^{-2} =$$

$$86 \times 10^{-2} =$$

$$62 \times 10^{-2} =$$

$$54 \times 10^{-2} =$$

$$70 \times 10^{-2} =$$

$$39 \times 10^{-2} =$$

$$52 \times 10^{-2} =$$

$$4 \times 10^{-2} =$$

$$16 \times 10^{-2} =$$

$$40 \times 10^{-2} =$$

$$22 \times 10^{-2} =$$

$$44 \times 10^{-2} =$$

$$54 \times 10^{-2} =$$

$$59 \times 10^{-2} =$$

$$46 \times 10^{-2} =$$

$$85 \times 10^{-2} =$$

$$96 \times 10^{-2} =$$

$$96 \times 10^{-2} =$$

$$18 \times 10^{-2} =$$

$$47 \times 10^{-2} =$$